[ normalized x? probability |

Entries 677
Mean 1314
Std Dev 0.6964

3 T
0 2 4 6 8 10 12 14 16 18 20
XZ
mmm—— DQMstep3_TT_CKF
e DQMstep3_TT_default
wmm—= DQMstep3_TT_defaultNEWT203
209 g '
=] o ~ £
o L A IS
Ny 3 - !
< 2,50 £ :
v r - 1
N o ' 13-
: Lol ! !
2f- v b | 1
[ CH- | ] - 3
[ (s !
1.5F 1 i
1T -
o 0§F o 5F ! !
3 g Foore ] T
C ogf--d- « ] ]
o05f----- HE--2-- 11--
06f--
0
-3 =3 -2 -1 3
TP n (PCA to beamline)
A A
k<] B
j=4 =
Ny Ny
> >
Vv \%

Ratio

<op fp_> (%)

Ratio

A :
107 1




	Contents
	Page 1


